Total No. of printed/ p,ages=;10
O 4(Sem-6)MBP

2018 ,
MODERN BANKING PRACTICES
' Paper }: 603
 Full Marks — 80
Time — Three hours

The ﬁgures in the margin indicate full marks
: for the questions.

Answer either in English or in Assamese.
TG SR SRS Sew fiREl)
1. Choose the correct answer : T s

B eI AR SR ¢

(a) In which year 6 more commercial banks were
* nationalised in India ?

SITS (PN b Wbl T AR @
TR 1 2T

(1) 1969 / ssv> (i) 1975 / S»ae
(iii) 1980 / Ssbo  (iv) 1982 / Ssba
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(b) Which one of the following IS the ﬁrst
Universal Bank in India ?

fFeste " @M siveri gy R @ 2

() ICICI Bank / % % § w2 SN
(if) HDFC Bank / @35 % % & @
(i) SBI / @5 & @iz
(iv) AXIS Bank / af$p @&

- (¢) Schedule 3 in the Bank Balance Sheet relates

to :

@WWWOWW@W?IW:

REeo! 2 ¢

(i) Deposits
T

(ii) Capital

(iii) Borrowings
?N'-T

iv) F i)vied Assets
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(d) Under which Schedule a bank prepares its
Balance Sheet ?

(CPINCD! TP e <t @\Wwﬁw@

UGS 2

(i) Third Schedule of the Bankmg Regulatlon
Act, 1949,

QR (T wﬁw 55857 i

(ii) Third Schedule of the Reserve lank of
India Act, 1934,

oo [os @ Wliw 35983 \oa\
P! |

(iii) Third Schedule of the Compames Act,
2013.

= Wﬁﬁ, 20397 O SR |

(iv) Third Schedule of the Negotiable
- Instruments Act, 1881.

BT e AT, Svt-59 o SRppSY
(e) The relationship between a banker and a
customer is :
R ST AT WG T TS 3
(i) that of a debtor qnd creditor
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(ii) that of a creditor and debtor
(iii) pfimarily that of debtor and creditor

eI TR ST AN
(iv) None of the abqve .

Go3T «Bre T

" A b;;mker’s lien is =

AR T T ¢

(i) Ne_gative lien
YT TG

(i1) vParticular lien
e 9

(iit) Gcnefal | lienr
AR TG

(iv) All of thé above

o TEAER
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(g) A collecting banker is given protection only
~ when he collects a crossed cheque.

e kRS (5% TReE FRETR @B ARz
@@ TEEEd i =7

‘ (i) Correct (9@)
(11) Incotrect (SHR)

(h) Two parallel transverse lines are essentlal fox
- a special crossing.

RoE @AW RIS O mnﬁf—vimf%r
AR TR AT | |

(i) . Correct (¥%)
(ii) Incorrect (S&@)

(i) “Advances of a bank represents its asseté.”
“ @ S BRI e e e
) Correct (%‘) |

(ii) Incorrect' (Sra=)
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() Borrower’s character +c

apacity + capital
Safe credit. ; A '

) any four of the followmg questions (in
3@0 words each) : - 5x4=20

ﬁmwﬁﬁm%‘mﬁw(zﬁﬁr 3005}
T )

(1) Correct (u%)

(ii) !ncorrect '(Wg) Dlstmgulsh between pubvhc sector bank and

4 : : ~ private sector bank,
2. Answer the following questions -

Fesie. erbmze Gag fera 5
(2) What is uni banking ?

ZXS%f

grev (e |

65773 SNEIRE Cfﬂtc"{‘ > Balance Sheet.

(b) Define customer of g bank
(9 ARFT wewt foyy |

@ @W 4q9 R w‘qﬁa i Torgle
S NI

'Brieﬂy discuss the rights of a banker.
S TAOE S D 9 |

ain the significance of general crossing.

_ (¢) What 1s¥ an overdraft ?
SRR i
(d) Write two features of Negotlable Instrume i

i@mamm T g5 S ey

(e) What is Non-performmg Assets ?

S-FEITE H~oifes i cenza 2
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(e) Distingulsh between a cheque and a bank draft.

U O W1 93 (IS GRS eltew (e |
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| (b) Give the proforma of Schedule 2ofa Bank




(H) Explaln the different types of busmess c ﬁ Or / =24t
SE R ﬁrf*:f AP 4 |
4. (a) State the features of retail banking. [

KI5 SES FRRTE 2o =

(b) Briefly state the advantages and disadvantag
of branch bankmg System.

~ Explain the circumstances under which the
v.”bankef-customer relationship terminates.
Lyl P e

m««ﬁﬁ&%aﬁmv&mm
WW@WWWI

| 6. Discuss the principles of bank lending, 10

= @\ﬁs\ ‘Wﬁa AR« i W&ﬁw
0 | s ‘ wf

5 A 5 | S SCEnAL

. Or / Wy (R ety oo ‘ |
Describe the functions of modern cor'nmer‘ Or / &=R| |

~banks.
W{%W @"WW?@WI 1

'5. (a) Briefly dISCHSS the procedure of openmgv

bank account in the name of a partnershi Ege AT

State the various assets contained in a Bank
Balance Sheet. 10

wn

firm. .
<GBt TS ‘ﬁ%@F@ N (F5T fiﬁf"f (4l 7. - Define ‘holder’ and ‘holder in due course’. State
P SN SR S i the privileges of a holder in due course.
4+6= 10
(b) Distinguish between Hypothecatlon
Motteage, W e TR G T B FARRS

A c@mwaﬁwaﬁrwu |
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 What is a paying banker ? State the statutory
protections granted to the paying banker under the
Negotiable Instruments Act, 1881. 2+8=10

RO Qe T @t swirs 5o 2T
Rl St wfiNe SRSt QAT e T
memaﬁ 11
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